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DIPLOMA IN ELEMENTARY EDUCATION 
(D.E1.Ed.) 

Term-End Examination 

December, 2014 

BES-004 : CONTEMPORARY INDIAN SOCIETY 
AND EDUCATION 

Time : 3 hours 	 Maximum Weightage : 70% 

Note : (i) All the questions are compulsory. 

(ii) All questions carry equal weightage. 

1. Answer the following question in about 
600 words. 
Discuss the impact of Colonial Education in India 
during the British Period specially with regard to 
content and pedagogy of education. 

OR 
Describe Gandhi's Wardha Scheme of Education 
in the context of Compulsory Primary Education. 

2. Answer the following question in about 
600 words. 
Discuss the role and involvement of Panchayati 
Raj Institutions (PRIs) in the development of 
Elementary Education in India. 

OR 
With reference to the Public Private Partnership 
(PPP) mode of Education, discuss the need for 
Private stakeholders to participate in the 
development of Elementary Education in India. 
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3. 	Answer any four of the following questions in 
about 150 words each. 
(a) Equality and Equity in Education. 
(b) Neighbourhood Schools. 
(c) Role of the Teacher in RTE Act, 2009. 
(d) Continuous and Comprehensive 

Evaluation. 
(e) Impact of Globalisation on Education. 
(f) School Development Plan (SDP). 

	

4. 	Answer the following question in about 
600 words. 
Children construct knowledge on the basis of their 
experiences. What kind of experiences would you 
like to provide to children in your class so as to 
make the teaching-learning process positive and 
meaningful for them ? Illustrate your answer with 
appropriate examples. 
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